Math 1152, Quiz #13, Spring 2014 Name Kg\z/

Instructions: Show all work. Use exact answers unless specifically asked to round. You may check your
answers in the calculator, but you must show work to receive credit.

1. Find the Maclaurin polynomial Py for f(x)=e*". You may use the table below to aid your

calculations. o
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2. Find the Taylor polynomial of degree three that approximates the function f(x)=vV4+x
centered at c=2.

no| onl S (x) S (e) (x-c)” ‘/(7:7@ (o)’
LU ™ Ve (22 =\ Vo
| ™ 5 -2 i (-2)
2 e g SO A S)
e BT 457 (x-2) ﬁ;r (x-2Y
L4 24 qq = (1 x)%. :ﬁ%&g (% _2>q ugl (K ZB‘{

( ?3 C)g> - \IZJ t g%s"é; ()V"ZB 246 G< '2) ,5'5 (7\“ ZXS

(O = \"‘3‘“‘%\’5 | Hxp™

How large is the error on the interval {1,377 ,R
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